ACHIEVERS B1+ UNIT 3

KEY WORD SENTENCE TRANSFORMATIONS

Complete the sentences so they have the same meaning. Use the words in
|T brackets. Write one word on each line. Contractions count as one word.
There is one example.

0. Our school is bigger than the other schools in town. (AS)
Other schools aren’t as big as our school.

Adjectives

1) My room isn't the same size as my sister's room. (BIGGER)

My room is sister’s room.
2) There aren't any houses smaller than our house in our street. (THE)
Our house in our street.
3) This house is too expensive for us. (ENOUGH)
This house is for us.
4) The dishes aren't clean enough; I need to wash them again. (TOO)
The dishes , I need to wash them again.
B5) My sister is taller than me. (AS)
My sister isn't me.
6) There isn't any river longer than the Amazon river in the world. (THE)
The Amazon river in the world.

Indefinite pronouns

1) I knocked the door but there wasn't anyone in the house. (NOBODY)

I knocked the door but the house.
2) I left my glasses in the living room but I can't find them. (SOMEWHERE)
I left my glasses living room but I can't find them.

3) She dated a lot of boys but she didn't like any of them. (ANYONE)
She dated a lot of boys but she
4) They finally didn't go on holidays. (ANYWHERE)
Finally, they on holidays.
5) I asked her name but she didn't say a word. (ANYTHING)
I asked her name but she
6) She would like to find a man like you. (SOMEONE)
She would like to find
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